(B :mm)

118

152

(BEECY 7)

/4

% i EBRT ) ARER
2 % RUX—HVI61L—E
7 = % RUX—HV161L
Z B 5 = BEBL
07 B B 5 5 = RH S ST
BT (GW/ZB) 26 ; I D] i;imkﬂ;% @é4O4X%29WT%2§%O>@<EJUDBW?EEi?)
%7 DREE (kW) 34 9(30,000kcal /h)
E & 5 A =& 13A- 12A, LPG
To) 4l T X EEBWE(%) 82.3
L= — T 162~2.52
PR ) N i [euEsLt5E(L/min) 20
ol ¥ 1 %k 8 2 E A B 35/~48,50,60,/5C(158K)
~ 4 B B B B B " READ 3/~ 48 C(1 26k
v 52 ¥ vit(z)mp| ©0~300(20L&),350,400,690L
il YT = (1688)
3) T’)/ﬁﬁi@a o5 ;
\ 4 | Hﬂiﬂé%g(t/mn% 20
\ | . SEFDE(L/min 2.7
HARED (R1/2) | SEFHAE (kPa) 10(0.1kqf /cm?)
A BERES (L7 FENHT
BAEED (G1/2B) 25 3 & AC100V(50/60H2)
BT (W)(50/60Hz) | 44 (1B 3), MEBTHHE - 5 {FBEF 93
EARSEB, TLRaIEE, BEAKIEE,
z o # = BEMIEEB(REC. — X, A4 ATL ALy F),
BEMILZSEE, 7, v OERDEE,
291 510 45 REGEHE, BENILES, BETHEE
— - - o B K 15A(G1/2)
253 5—36% 9 50 225 A N W5A§GW 2%
(EER Ly 1) I 15AR1/2
%$?§4/ (KM 6 178 wmﬁw%,1$ﬁw%, >
- ™~ ; 2 BEITL-7-MERI - F(Em)
Al 1/ ‘ | =0 o TR BE T3y (U ETVER M)
® O | / &) £3Y (MC—140V),
/o - o I v 7-2AMI, MK1, C1,
i i L] B H ¢ 7T vravg(28) BE7 5751650,
¥ Y a0 T S = Novs—ty b, hyvs5-75745-MIA
‘ ‘ - 10 T © BAEBRIS = NW1012
B L% & & 9 -
m n < o] 1 Lo *HIT 1 SADETT .
if 5 < v B e
b J =
— o) A |
~ B { C ) C ) C )
| | R e < D)
0 Al = o = 2y | — = —
1 i M~ w (-} \ C ) C ) C )
M <t ~+ \ Y
e ¥ ol -~ -
(@]
=
f¥ & = gt 14 B50
[|42] 8 BARED (G1/2B)

DYy FL TS [2h|ZRET7 2658

/;%%ﬁm<ow/ﬁw TARED (R1/2

——4 B N—— |[®%[RUX-HV161L-E

YYFL e R E [Free
EEEMPIXERIT2EHF 265

COERRIIHED D FERLKEEIT HIENHVETTDOTI 7RSI U,
BIDORBEEE R IHFEZCOOVTISTEDRES JE <S5 (0,

45106—1




